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10.1 Exploring Quadratic Graphs: y=ax’+c

What was the effect of multiplying y=x* bya=-

parabolas?
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What was the effect of\multlplylng y=x’bya= -;- and ¢ =2? What is the vertex of the
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3. Complete the table of values and graph.
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What was the effect of adding k = -4 and k =3 o y =x*? What is the vertezof these
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Homework 10.1 #s 1-20:
Identify the vertex of each graph. Tell whether it is a minimum or maximum.
. 1.
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Graph each function. P
Oy = —4x2 a5 f(x) = 15 6, = 312
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Order each group of quadratic functions from widest to narrowest graph.
10. y = 3x2,y = 5x2)y = 442 o 1L f(x) = 5x2, f(x) = 3x J(x) =1x?
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14. f(x) = x2 + 2 15.y =x2 - 3 16.y = 3x2 + 4
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20. A gull drops a clam shell onto some rocks from a height of 50 ft. The
function h = —16¢2 + 50 gives the shell’s approximate height /1 in feet
after ¢ seconds. Graph the function.
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Narme: Z4E\f 10.2 Notes

® Graphing a Quadratic Functions: Axis of Symmetry

- Axis of Symmetry Formula: x=-b/2a
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1. What is the axis of symmetry 17 ?4 B
of the quadratic function? Draw 18170 \
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3. How can we plot more points to
make our parabola?
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10.2 #s 1-16 Homework

. Find the equation of the axis of symmetry and the coordinates of the vertex of the
graph of each function.
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Graph each function. Label the axis of symmetry and the vertex. %O& K& S8 =
. 1L f(x) = x2 + 4x + 3 A”%" X‘;-Z/‘);&ilz. y=2x2 -
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1S. Gardening Suppose you have 80 ft of fence to enclose a rectangular garden.
The function A = 40x — x? gives you (he area of the garden in square feet
where x is the width in feet. A= —x FY Ox L
a. What width gives you the maximum gardening area?

b. What is the maximum area?
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16. A ball is thrown into the air with an upward velocity of 40 ft/s. Its height f2in

b. What is the ball’s maximum height?
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feet after #seconds is given by the function h = —16¢2 + 40t + 6.
a. In how many seconds does the ball reach its maximum height?
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Practice 10-3 Solving Quadratic Equation
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Solve each equation by graphing the related function. If the equation has

no solution, write ne selution. N 4+ -
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L, -
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Solve each problem. If l;gcessary, round to the nearest tenth. 7\4,: 3 f

52. You want to build a fence around a square garden that covers 506.25 ft’, How many
feet of fence will you need to complete the job?

53. The formula A = 65° will calculate the surface area of a cube. Suppose you have a cube
that has a surface area of 216 in’. What is the length of each side?

54. You drop a pencil out of a window that is 20 ft above the ground. Use the formula V* =
64s, where V is the speed and s is the distance fallen, to calculate the speed the pencil is
traveling when it hits the ground.

55. Suppose you are going to construct a circular fish pond in your garden. You want the
pond to cover an area of 300 ft* . What is the radius of the pond?

56. During the construction of a skyscraper, a bolt fell from 400 ft. What was the speed of the
bolt when it hit the ground? Use V* = 64s.
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